
Practice CER Chart 
 
 

Our prediction was “We think pill bugs will eat______________________________________________.” 
 
 
(Claim) We can now say that pill bugs (do or do not eat)______________________________________. 
 
 
(Evidence) We know because_____________________________________________________________. 
 
 
(Reasoning) We think ___________________________________________________________________ 
 

 
_____________________________________________________________________________________. 

 


